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CCGPS Analytic Geometry Unit 6: Day 3 Circles

_Given the standard form for the circle, identify the center and radius. Then graph.

24 (y-3)2=9 2. (x+1)2+#(y+5)2=25 3. (x-4)2+ (y-2)2=10
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Write the standard form of the equation of each circle described and graph the equation.

.9
4. Center at (-5, 0), radius > 5. Center at (3, -2) and 6. Center at (6, 1) and tangent
tangent to the y-axis to the linex = 2.
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Write the equations of the circle that satisfies each set of conditions.

7. The circle passes through the origin and has its center at (-4, 3).



8. The circle passes through the point (5, 6) and has its center at (2, 3).

9. The endpoints of a diameter are at (2, 3) and-at (-6, -5).

Write the standard form of the equation of each circle and then graph the equation. Identify the center
and radius.

10.x2+y2-4x+ 12y +15=0 11, x2+y2+ 2x-4y=-1

12.16x2 + 16y2 6% - 32y =144 13. 36-x2=y2 - 4y

14. Find the radius and the center of a circle defined by the equation y? + x? + 6y - 8x =25=0
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CCGPS Analytic Geometry Unit 6: Day 3 Circles

_Given the standard form for the circle, identify the center and radius. Then graph. ( 1> A f 5 )
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Write the standard form of the equation of each circle described and graph the equation.
.9
4. Centerat(-5,0), radlus = 5. Center at (3,-2) and 6. Center at (6, 1) and tangent
tangent to the y-axis ¥ =23 to the line x = 2. ~
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Write the equations of the circle that satisfies each set of conditions. ( X ~ L\) + / ik }() =y >

X h
The circle passes through the orlgmy;nd has its center at (-4, 3). (0 lf) +( 0~ 3J = 1
¢ 0,0 ) (64 9 =
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8. The circle passes through the point (5, 6) and has its center at (2, 3). X
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9. The endpoints of a diameter are at (2, 3) and-at (-6, -5).
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Write the standard form of the equation of each circle and then graph the equation. Identify the center
and radius.

10.x2+y2-4x+ 12y +15=0 11. x2+y2+2x 4y=-1
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12. 16X2+1,y g‘fx 32y = 1/3 13. 36-x2= yz 4y
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14.Find the radlus and the center of a circle defined by the equation y2 + x2 + 6y - 8x+25=0 * é '552 '
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